
1 たしざんをれんしゅうしてみよう。

① １２＋７＝ ④ １７＋１＝

② １５＋２＝ ⑤ １３＋２＝

③ １６＋１＝ ⑥ １１＋２＝

13 ⑥ 15 ⑤ 18 ④

17 ③ 17 ② 19 ①

1年 たしざん10より大きい 21 月　　日
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1 たしざんをれんしゅうしてみよう。

① １６＋２＝ ④ １５＋３＝

② １１＋７＝ ⑤ １８＋１＝

③ １３＋２＝ ⑥ １４＋２＝

16 ⑥ 19 ⑤ 18 ④

15 ③ 18 ② 18 ①

1年 たしざん10より大きい 22 月　　日
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1 たしざんをれんしゅうしてみよう。

① １８＋１＝ ④ １５＋２＝

② １３＋２＝ ⑤ １４＋３＝

③ １７＋１＝ ⑥ １１＋１＝

12 ⑥ 17 ⑤ 17 ④

18 ③ 15 ② 19 ①

1年 たしざん10より大きい 23 月　　日

じこひょうか

た
し
ざ
ん
10よ

り
大
き
い

こ
た
え

2
3



1 たしざんをれんしゅうしてみよう。

① １６＋３＝ ④ １３＋４＝

② １１＋２＝ ⑤ １５＋２＝

③ １８＋１＝ ⑥ １２＋３＝

15 ⑥ 17 ⑤ 17 ④

19 ③ 13 ② 19 ①

1年 たしざん10より大きい 24 月　　日
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1 たしざんをれんしゅうしてみよう。

① １７＋１＝ ④ １３＋２＝

② １１＋７＝ ⑤ １２＋２＝

③ １５＋４＝ ⑥ １４＋５＝

19 ⑥ 14 ⑤ 15 ④

19 ③ 18 ② 18 ①

1年 たしざん10より大きい 25 月　　日
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1 たしざんをれんしゅうしてみよう。

① １３＋５＝ ④ １７＋１＝

② １２＋１＝ ⑤ １１＋８＝

③ １５＋２＝ ⑥ １８＋１＝

19 ⑥ 19 ⑤ 18 ④

17 ③ 13 ② 18 ①

1年 たしざん10より大きい 26 月　　日

じこひょうか
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1 たしざんをれんしゅうしてみよう。

① １３＋５＝ ④ １７＋１＝

② １８＋１＝ ⑤ １４＋５＝

③ １５＋４＝ ⑥ １１＋８＝

19 ⑥ 19 ⑤ 18 ④

19 ③ 19 ② 18 ①

1年 たしざん10より大きい 27 月　　日

じこひょうか
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1 たしざんをれんしゅうしてみよう。

① １５＋１＝ ④ １８＋１＝

② １２＋４＝ ⑤ １６＋１＝

③ １７＋１＝ ⑥ １４＋５＝

19 ⑥ 17 ⑤ 19 ④

18 ③ 16 ② 16 ①

1年 たしざん10より大きい 28 月　　日

じこひょうか
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1 たしざんをれんしゅうしてみよう。

① １６＋１＝ ④ １２＋２＝

② １７＋２＝ ⑤ １５＋３＝

③ １４＋２＝ ⑥ １８＋１＝

19 ⑥ 18 ⑤ 14 ④

16 ③ 19 ② 17 ①

1年 たしざん10より大きい 29 月　　日

じこひょうか
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1 たしざんをれんしゅうしてみよう。

① １５＋１＝ ④ １２＋７＝

② １１＋５＝ ⑤ １３＋２＝

③ １７＋２＝ ⑥ １６＋１＝

17 ⑥ 15 ⑤ 19 ④

19 ③ 16 ② 16 ①

1年 たしざん10より大きい 30 月　　日
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